—

Math 5102
%/25/20
wWeds J




(\%( Cof\H(\u%d\uu)
3 _ 2
_Eﬁ; Congiden ﬁf(X): X=3%4+3X-3
Ry Cisencdenn with 9 =3, conslod
: creduciule E fresiein

=3I 3x—S s €L
(ﬂW\ @ a(\xﬂ'l'o‘t\-lX“:}_m‘r—el;l(o
Let I:(xz—ﬁxlw&x ”3) ﬁ;S}éﬁf
n CQ[X] Then P | Ok 0£A< T
K = CO\D%:{(O\%X +C><l)+l/ VZ)(QO [
Thaa Foj
Ve
- vot —
ek OEC Fha i &€ A, siw
OQ X%~%XZ%2X/3' MOR 9¢ Cjc‘? (r(red\fc‘%
nen QO

(8] ={orb0+ 8] cq






/
LﬁJrS Lompute.  Tn

Cﬁl(@)z{o\%wcéﬁ( OReT
- + -3=0

[ |
led < Caleolate =y in CQ(Q)

92v262+29~3:0

1 c (@) sin= 040 and QOIS oeld.
S T e 068
L:o\k\o@*kl@ Lye some OL)L)Cé@\‘
So, o
3

Thys, | = RN g
So, _ | +aB*h Z+c<39‘59+3 )
TWoS, O = (—*\ %C>%(C}»’gc)@’\’<‘o¥gc>8

k 1(,\L<MO@ P nekaper y




1 _

5
‘—// —
93:3@&/36-1'%

@‘7‘33@—%*%

Lo ye-ot 7

l/%z/ Atﬂ@b/ﬂ[c =X lenSions
D@,Qi Le_jv W e O WWW\({L ~

. 5

3 F. [ ement *EK i Sanid
- ot M of
> + o0 Some no\ZeC

v \”g o {00

Fo\\jmowﬁa #(K)é FCXj I‘p
(o guclh £ enists Huon &

M e) dranscendertal o L
The exHewmsion K/ E s algelorais
A evey del is alyebraic svtn =



EX \E \ S Ot%&\ofou'c (ﬂ/&CQ\

sine NZ v o et b X227 € @0

/C, k§ W/\MLU\P?/\ AL siace
s (gm(oo+ (/2) X+€&CX7

T i Wmagcmiﬁmﬁﬁ ey AL
PFDOQ no ¥ shoct.

o n r\_‘
Q@wt. 0\ﬂ><+a0~l>< o X =,

L oa

\(é CO\\\Q(Q W\O/\i"

—



/HABMQN\‘, [ et o be algebraic

v & Lels E owhane #£€K amd K g
Som€e  exlewoion Held ) F /<
Theo, Thewe existh a valg e . L
Monic [—((ﬁcLUC(LI(_ Po[y nOn jal < )F
9 (x) € FCKU w (th ﬂ(o():O,
Mo e over qf(x)é FEK] hoao £ S A

rogy  TEE g(x) divide Flx) in Flx)
(D) Sina s algelnale e f’m\
W Somk N A
R :X ns @ oot (ot j(X)éF[X]
L{;\Q o ‘;o[jr\oMml ot minimal gt

,{_
o RS & (ool . , -
\K/I\JJIDK/MAC/WV\ 0. SS V% v f Mite ﬁdf@d&
rkum\phjf’\ﬂ \Olﬂ o C/(O/LE{]W//L'{’: (dfj[
( X €ady
¢ slhow 5T
%ﬁ {pre& Ucole en g %Q@nk



SU 0§ 7 )
ppose 9 (x) s reducilole. @

Colx)= a(x)b () whew alx) b(Jefld

Tham
Sty 0< dos (A1) < dey (g
X

amd. 0 < degl(x U<dlgzﬂ(q()<”
Andy O = 9(« () =a ()b (=)

So, eflen alx)=0 or blx)=0
buk M/\N) c()«\)ffwk(ofj ﬂg A mal 57 dT/I‘/O

go) ﬂ(ﬂ | M(Q(Lu@w A F[KJ

/H’W lee Q/)Ulh a V\/\/Mla [r(\e(}\UuW
poly. %(x\GFCXD nth 3(0”:0

@IS F(x ).



Q\ﬂurH’L\W\ Fhew epigs Pg’g
It

B\j g division
q.(x), c(x) EF(xX]) whet
fx)= %(X\?&(xwf(x)
amd et (x]|=0 °f o\flg(r(x)k
T dog(9(x)
o= F ()= %(o&m@m—r(fx) e
_ Ogq(4 po(et) s
_ (=) oot
So we con't ot deg(r(x\\éokﬁg (gt(;c\)
pecomse 94 il et ok ?(X)/



So, h(x) =90 o (x) f9.7
Whew al(x) € V[x)

St W) T¢ Teed Wole eithen

G( %) or alx) ¢ & vt 9(@ SULA

Jn i became fj(oi Ow\& d Non- 2eco.
So, a(X)/&éF

Thwo \,\(x) = a@(x) s 0EF.

rv\/o«\\‘/ MDﬂl[,

S0, o= ol hxl=90<),
So, %(x) 1S vAigue. @




